MELLOW 300ML HAND SANITIZER ORIGINAL- alcohol liquid Mission Y, Inc.

Disclaimer: Most OTC drugs are not reviewed and approved by FDA, however they may be marketed if they comply with applicable regulations and policies. FDA has not evaluated whether this product complies.

Mellow 300ml hand sanitizer original

Drug Facts



Medicical Ingredient

Medicical Ingredient Purpose Ethyl Alcohol 75% [V/V] Antiseptic

Features

To decrease bacteria on the skin that could cause disease.

Recommended for repeated use.

Use anywhere without water.

Recommended for repeated use.

use anywhere without water.

Warning

For external use only-hands.

Flammable, keep away from heat and flame.

Discontinue if skin becomes irritated and ask a doctor.

Keep out of reach of children. In case of accidental ingestion, seek professional assistance or contact a Poison Control Center immediately.

For external use only.

Flammable, keep away from heat and flame.

Discontinue if skin becomes irritated and ask a doctor .

Keep out of reach of children. In case of accidental ingestion, seek professional assistance or contact a poson control center immediately.

Non-Medicinal

Water, Glycerin, Propylene Glycol, Carbomer,, Aminomethyl propanol, Parfum.

Directions

Wet hands thoroughly with product and rub until dry without wiping For children under 6, use only under adult supervision. Not recommended for infants. When using this product keep out of eyes. In case of contact with eyes, flush thoroughly with water. Do not inhale or ingest.

Avoid contact with broken skin.

Other information

Do not store above 105F. May discolor some fabrics. Harmful to wood finishes and plastics.

When using this product

keep out of eyes,In case of contact with eyes,flush thoroughly with water Do not inhale or ingest Avoid contact with broken skin.

other information

Do not store above 1050 May discolor some fabrics. Harmful to wood finishes and plastics0





lcohol liquid							
Product Informati	ion						
Product T ype		HUMAN OTC DRUG	MAN OTC DRUG Item Code (Source)			NDC:75580-004	
Route of Administrati	ion	TOPICAL					
Active Ingredient/	Active Moie/	ety					
Ingredient Name				Basis of	Strength	Strength	
ALCOHOL (UNII: 3K99	58V90M) (ALC	OHOL - UNII:3K9958V90M)		ALCOHOL		75 mL in 100 mL	
Inactive Ingredien		gredient Name				Strength	
T							
Inactive Ingredien		gredient Name				Strength	
Inactive Ingredien PROPYLENE GLYCOL	In			(5 0.01 mL in 10	0	
PROPYLENE GLYCOL	In . (UNII: 6DC9Q1					0 mL	
PROPYLENE GLYCOL	In . (UNII: 6DC9Q1 9880)	167V3)		(0.01 mL in 10	0 mL mL	
PROPYLENE GLYCOL LEMON (UNII: 24RS0A9 CARBOMER 940 (UNII: AMINOMETHYLPROPA	In 2 (UNII: 6 DC9Q 1 9880) : 4Q93RCW27E) ANOL (UNII: LU	167V3)		(0.01 mL in 10 0.1 mL in 100	0 mL mL 0 mL	
PROPYLENE GLYCOL LEMON (UNII: 24RS0A9 CARBOMER 940 (UNII: AMINOMETHYLPROP WATER (UNII: 059QF0F	In (UNII: 6DC9Q1 9880) : 4Q93RCW27E) ANOL (UNII: LU KO0R)	167V3)			D.01 mL in 10 D.1 mL in 100 D.35 mL in 10	0 mL mL 0 mL 0 mL	
PROPYLENE GLYCOL LEMON (UNII: 24RS0A9 CARBOMER 940 (UNII: AMINOMETHYLPROPA	In (UNII: 6DC9Q1 9880) : 4Q93RCW27E) ANOL (UNII: LU KO0R)	167V3)			0.01 mL in 10 0.1 mL in 100 0.35 mL in 10 0.11 mL in 100	0 mL mL 0 mL 0 mL 00 mL	
PROPYLENE GLYCOL LEMON (UNII: 24RS0A9 CARBOMER 940 (UNII: AMINOMETHYLPROP WATER (UNII: 059QF0F	In (UNII: 6DC9Q1 9880) : 4Q93RCW27E) ANOL (UNII: LU KO0R)	167V3)			0.01 mL in 10 0.1 mL in 100 0.35 mL in 10 0.11 mL in 100 28.42 mL in 1	0 mL mL 0 mL 0 mL 00 mL	
PROPYLENE GLYCOL LEMON (UNII: 24RS0A9 CARBOMER 940 (UNII: AMINOMETHYLPROP WATER (UNII: 059QF0F	In 2 (UNII: 6DC9Q1 9880) : 4Q93RCW27E) ANOL (UNII: LU KO0R) 5A3C0OX)	167V3)			0.01 mL in 10 0.1 mL in 100 0.35 mL in 10 0.11 mL in 100 28.42 mL in 1	0 mL mL 0 mL 0 mL 00 mL	
PROPYLENE GLYCOL LEMON (UNII: 24RS0A9 CARBOMER 940 (UNII: AMINO METHYLPROPA WATER (UNII: 059QF0F GLYCERIN (UNII: PDC6	In 2 (UNII: 6DC9Q1 9880) : 4Q93RCW27E) ANOL (UNII: LU KO0R) 5A3C0OX)	L67V3)) J49E6626Q)	S		0.01 mL in 10 0.1 mL in 100 0.35 mL in 10 0.11 mL in 100 28.42 mL in 1	0 mL mL 0 mL 0 mL 00 mL	
PROPYLENE GLYCOL LEMON (UNII: 24RS0A9 CARBOMER 940 (UNII: AMINO METHYLPROP WATER (UNII: 059QF0F GLYCERIN (UNII: PDC6 Product Character	In (UNII: 6DC9Q1 9880) : 4Q93RCW27E) ANOL (UNII: LU KO0R) 5A3C0OX)	L67V3)) J49E6626Q)			0.01 mL in 10 0.1 mL in 100 0.35 mL in 10 0.11 mL in 100 28.42 mL in 1	0 mL mL 0 mL 0 mL 00 mL	
PROPYLENE GLYCOL LEMON (UNII: 24RS0 A9 CARBOMER 940 (UNII: AMINOMETHYLPROPA WATER (UNII: 059QF0K GLYCERIN (UNII: PDC6 Product Character Color	In (UNII: 6DC9Q1 9880) : 4Q93RCW27E) ANOL (UNII: LU KO0R) 5A3C0OX)	L67V3)) J49E6626Q)	Si	core	0.01 mL in 10 0.1 mL in 100 0.35 mL in 10 0.11 mL in 100 28.42 mL in 1 0.01 mL in 10	0 mL mL 0 mL 0 mL 00 mL	

Packaging				
# Item Code		Package Description	Marketing Start Date	Marketing End Date
1 NDC:75580-004- 01	300 m Produ	nL in 1 BOTTLE, PLASTIC; Type 0: Not a Combination ct	04/24/2020	
PT2718C 寄变到透明 PT287C 	S	<section-header><section-header><section-header><section-header><section-header><section-header><section-header><section-header><section-header><section-header><section-header><section-header><section-header><section-header><section-header></section-header></section-header></section-header></section-header></section-header></section-header></section-header></section-header></section-header></section-header></section-header></section-header></section-header></section-header></section-header>		
Marketing Ir	nforn	nation		
Marketing Categ		Application Number or Monograph Citation	Marketing Start Date	Marketing End Date
OTC monograph not	final	part333A	04/24/2020	

Labeler - Mission Y,Inc. (117492659)

Registrant - Mission Y,Inc. (117492659)

Establishment

Name	Address	ID/FEI	Business Operations
Mission Y,Inc.		117492659	label(75580-004)

Establishment

Name	Address	ID/FEI	Business Operations
Shenzhen Lantern Science Co.,Ltd.		421222423	manufacture(75580-004)

Revised: 4/2020

Mission Y,Inc.